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Spring 2005

Quiz 6

1.  The equation of exchange states that

a.  any increase in the money supply of a country must increase nominal GDP.    The Eq of Ex says MV = PY so any increase in M increases PY which is nominal GDP. 
b.  any exchange of money for demand deposits will leave inflation unaltered.  May be true, but it is not the Eq of Ex.
c.  the Federal Reserve must undertake monetary policy at the request of the President.  Nope.  The Fed is independent of the President.
d.  in an inflationary period, the money spent on all goods and services is greater than the income received by the production of those goods and services.  The circular flow tells us that the dollar value of all goods and services is equal to the income received by the production of those goods and services.
2.  When the U.S. Treasury issued $400 billion of securities to finance the federal deficit in federal fiscal year 2004,
a.  the Federal Reserve must have bought all of them.  The Fed is forbidden from buying directly from the Treasury.
b.  the securities were sold to the public, banks, foreigners, and other institutions, but not the Federal Reserve.  Yes, those are some of the buyers.
c.  the money supply of the U.S. went up by precisely $400 billion to finance the deficit.   The money supply does not change when the government runs a deficit.  
d.  the money supply of the U.S. went down by precisely $400 billion because people paid for the securities with checks, and therefore the total amount of demand deposits in M1 went down by $400 billion.  An exchange of a government security for a check leaves the money supply unaltered.
3.  Suppose the money supply in an economy is 500 zlots (the zlot being the unit of money in the country).  Nominal GDP in the nation is 1,500 zlots.  The velocity of circulation of money in the economy is
a.  0.3

b.  3.0

c.  500

d.  750,000

e.  impossible to determine from the data given
The equation of exchange is MV=PY .  So 500 V = 1500    V must equal 3.
4.  In the long run, inflation is caused by 

a.  banks that have market power and refuse to lend money, thereby pushing up prices.

b.  governments that raise taxes so high that it increases the cost of living and the cost of doing business, thereby raising prices.  If the government raises taxes, the opportunity cost is private sector production and purchase.  But not a price impact.
c.  governments or central banks printing too much money.   Inflation is a monetary phenomenon.  
d.  increases in the price of oil.

5.  If the nominal interest rate in an economy is 5% and the inflation rate is 2%, the real interest rate is

a.  2%

b.  3%

c.  5%

d.  7%

e.  10%

The nominal interest rate is the real interest rate plus inflation.  So the real rate must be 3%.  
